Module 10 - Takeout Doubles

Board 1 &« AKQ107
North Deals vy K82
None Vul ¢ 82
& AB7
4 8642 N 5
vy9765 W E vy AJ104
¢ Q54 = ¢ AK107
& Q2 & K1054
& JO3
vQ3
¢ J963
&J963

NS 24: EW 29v; NS IN; EW 1¢ ; NS 1&;
Par +100: EW 3v x-1

West North East South
le Dbl Pass
2v All pass

East has a perfect takeout double - with support for all the unbid
suits. West has a poor hand but must bid, so they bid the best of
their other suits at the lowest possible level with 2 ¥ . NS may
compete to 24 and EW may further compete to 3 ¥.

Lead is # A against West's ¥ contract or if North plays in 4 s,
East should lead ¢ A.

Board 3
South Deals
E-W Vul

4 10876
v1074
¢ 1074
& K52

N
W E
S

4 Q43
vy AKJ?2
¢ 2

& 009863

a AKJO
v Q953
+ Q9653
*_

52

v 86

¢ AKJS8
& AJ1074

EW 4N; EW 5¢ ; EW 34; E 3v; W 2v; EW 24;
Par -630: EW 3N+1

West North East South
1%
Dbl Pass 3NT All pass

East, knowing that West has an opening hand, and enough HCP
for game. With excellent & stops they choose 3 NT.

South leads: # 3 and North plays the # K.

Declarer should win # A and play # J to set up the # 10 for the
9th trick.

Board 2
East Deals
N-S Vul

s K3
v K965
454
#Q10852
mm * 964
WS v AQ1043
M ¢ AQ109

&3
4« AQ75
v 8
¢ K76
&»KO764

« J1082
vJ72
¢+J832
& AJ

NS 4%; EW 2v; EW 2¢ ; Par +130: NS 4&=

West North East South

lv Dbl
le 2% 2¢ 3&
All pass

South has opening hand values and support for all the unbid
suits, so they make a takeout double. Over West's 1 4, North
does not have to bid but, having good values, they make a free
bid of 2 #. East can bid their second suit but South should
compete with 3 &.

East leads # 9 against a # contract by North.

Board 4 & A53
West Deals vy K975
Both Vul ¢ 105
& AJ63
& K4 N 4 862
vQJ W E vy A10642
¢ A9842 s ¢+ QJ6
& Q1052 & 94
4 QJ1097
v 83
¢ K73
& K87
NS 34: EW 2¢ ; EW 1v; NS 1&; Par +140: NS 24 +1
West North East South
1e Dbl lv 24
All pass

With 5 # s and 9 HCP, South has enough to invite game opposite
their partner's takeout double, so they bid a jump to 2 4. North
has a minimum and declines the invitation.

West leads: ¥ Q

Declarer draws trumps finessing # K and then plays West for

& Q - by playing the # K first and then leading towards the & AJ6
in dummy and finessing.
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Module 10 - Takeout Doubles

Board 5 & J6
North Deals vy A92
N-S Vul ¢ AKJ742
& 382
4 K1054 N 4« AQ83
vy K43 W E v QJ85
¢ Q8 = ¢ 103
& QJ105 & AK3
4972
vy1076
¢ 965
90764

EW 44 ;: EW 4v: EW 44: NS 1¢ ;
Par -420: EW 4v =; EW 44 =

West North East South
le Dbl Pass
24 Pass 44 All pass

West responds to the takeout double with an invitational jump to

2 & showing 9-12 HCP. With 16 HCP East has enough to bid
game.

North should start with ¢ A, ¢ K and then switch.

Declarer draws trumps, then forces out ¥ A to make 10 tricks for
the contract.

Board 6
East Deals
E-W Vul

4 KQ82
vy964
¢ A32
& 754

N
W E
S

73

vy AQ83
¢ K74
# KJ103

4 65
vJ2

¢+ QJ1095
#0862

4 AJ1094
v K1075
+ 86
+AQ

NS 2N; NS 2v; NS 24 ; NS 2&; NS 14,
Par +120: NS 1N+1

West North East South
le Dbl
Pass INT All pass

North's best suit is the opponent's # suit so they should bid 1 NT
to show 6-10 HCP with a stopper.

Lead is # J.

Once Declarer gains the lead they should play on #s and later
take a ¥ finesse.

Declarer knows most of the HCP are in the East hand from their
opening bid, so it is a good chance to play them for & A and ¥ K.

Board 7
South Deals
Both Vul

& 109
vy KQ109
¢ KQ5 S
& QJ76
& KJ532
vJ7
¢ A82
& K108

& 74
vy A8653
¢+J1094
& A4

EW 3v; EW 3¢ ; NS 14 EW 1&;
Par -140: EW 2v +1

West North East South
1e
Dbl 24 3v All pass

This should be a competitive auction with NS bidding 4 s and EW
bidding ¥ s. North and South do not compete further to 34 as
they both have minimum hands for their opening and response.
South leads 4 2 against against East's 3 ¥ contract.

NS can make 7 tricks in 4 while EW can make 9 tricks in v s.

Board 8 4« QJ107
West Deals vy AK97
None Vul ¢ A953
&4
4 A952 N 4 864
v 104 W E vy653
¢ K8 s ¢ QJ102
#KQ976 & A103
& K3
vQJ82
¢ 764
&J852
NS 3v; EW 1&; Par +140: NS 2v +1
West North East South
1 Dbl le lv
le 2v All pass

In response to North's takeout double, while South only has 7
HCP, they have responding values and can make a free bid of
1v after Responder's 1 ¢ . Over West's second suit bid of 1 4,
North competes to 2 ¥ with a fit.

West leads high-low doubleton in partner's suit, starting with
thee K.

South should draw three rounds of trumps and then set up 4 s;
playing # K first to avoid blocking the suit.
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[Event "Module 10 - Takeout Doubles"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:AKQT7.K82.82.A87 5.AJT4.AKT7.KT54 J93.Q3.J963.J963 8642.9765.Q54.Q2"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{East has a perfect takeout double - with support for all the unbid suits. West

has a poor hand but must bid, so they bid the best of their other suits at the

lowest possible level with 2\H. NS may compete to 2\S and EW may further

compete to 3\H.



Lead is \SA against West's \H contract or if North plays in \Ss, East should

lead \DA.}

[Result ""]

[BCFlags "9f"]

[DoubleDummyTricks "78557785575587655876"]

[OptimumScore "EW -100"]

[ParContract "EW 3HX-1"]

[Auction "N"]

1S X Pass 2H

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 7

N  S 8

N  H 5

N  D 5

N  C 7

S NT 7

S  S 8

S  H 5

S  D 5

S  C 7

E NT 5

E  S 5

E  H 8

E  D 7

E  C 6

W NT 5

W  S 5

W  H 8

W  D 7

W  C 6



[Event ""]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:964.AQT43.AQT9.3 AQ75.8.K76.K9764 JT82.J72.J832.AJ K3.K965.54.QT852"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{South has opening hand values and support for all the unbid suits, so they

make a takeout double. Over West's 1\S, North <b>does not have to </b>bid but,

having good values, they make a <b>free bid</b> of 2\C. East can bid their

second suit but South should compete with 3\C.



East leads \S9 against a \C contract by North.}

[Result ""]

[BCFlags "df"]

[DoubleDummyTricks "6654a6654a5688356883"]

[OptimumScore "NS 130"]

[ParContract "NS 4C="]

[Auction "E"]

1H X 1S 2C

2D 3C AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  6

N  S  6

N  H  5

N  D  4

N  C 10

S NT  6

S  S  6

S  H  5

S  D  4

S  C 10

E NT  5

E  S  6

E  H  8

E  D  8

E  C  3

W NT  5

W  S  6

W  H  8

W  D  8

W  C  3



[Event ""]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:Q43.AKJ2.2.Q9863 AKJ9.Q953.Q9653. T876.T74.T74.K52 52.86.AKJ8.AJT74"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{East, knowing that West has an opening hand, and enough HCP for game. With

excellent \C stops they choose 3NT.



South leads: \C3 and North plays the \CK.



Declarer should win \CA and play \CJ to set up the \C10 for the 9th trick. }

[Result ""]

[BCFlags "9b"]

[DoubleDummyTricks "3341534425a99b8a98b8"]

[OptimumScore "EW 630"]

[ParContract "EW 3N+1"]

[Auction "S"]

1C X Pass 3NT

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  3

N  S  3

N  H  4

N  D  1

N  C  5

S NT  3

S  S  4

S  H  4

S  D  2

S  C  5

E NT 10

E  S  9

E  H  9

E  D 11

E  C  8

W NT 10

W  S  9

W  H  8

W  D 11

W  C  8



[Event ""]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:K4.QJ.A9842.QT52 A53.K975.T5.AJ63 862.AT642.QJ6.94 QJT97.83.K73.K87"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{With 5 \Ss and 9 HCP, South has enough to invite game opposite their partner's

takeout double, so they bid a jump to 2\S. North has a minimum and declines the

invitation.



West leads: \HQ

}

[Result ""]

{Declarer draws trumps finessing \SK and then plays West for \CQ - by  playing

the \CK first and then leading towards the \CAJ6 in dummy and finessing.}

[BCFlags "9f"]

[DoubleDummyTricks "69657696574478544786"]

[OptimumScore "NS 140"]

[ParContract "NS 2S+1"]

[Auction "W"]

1D X 1H 2S

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 6

N  S 9

N  H 6

N  D 5

N  C 7

S NT 6

S  S 9

S  H 6

S  D 5

S  C 7

E NT 4

E  S 4

E  H 7

E  D 8

E  C 5

W NT 4

W  S 4

W  H 7

W  D 8

W  C 6



[Event ""]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:J6.A92.AKJ742.82 AQ83.QJ85.T3.AK3 972.T76.965.9764 KT54.K43.Q8.QJT5"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{West responds to the takeout double with an invitational jump to 2\S showing

9-12 HCP. With 16 HCP East has enough to bid game.

}

[Result ""]

{North should start with \DA, \DK and then switch. 



Declarer draws trumps, then forces out \HA to make 10 tricks for the contract.}

[BCFlags "9f"]

[DoubleDummyTricks "52373523736aa6a6aa6a"]

[OptimumScore "EW 420"]

[ParContract "EW 4H=; EW 4S="]

[Auction "N"]

1D X Pass 2S

Pass 4S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  5

N  S  2

N  H  3

N  D  7

N  C  3

S NT  5

S  S  2

S  H  3

S  D  7

S  C  3

E NT  6

E  S 10

E  H 10

E  D  6

E  C 10

W NT  6

W  S 10

W  H 10

W  D  6

W  C 10



[Event ""]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:AJT94.KT75.86.AQ 73.AQ83.K74.KJT3 65.J2.QJT95.9862 KQ82.964.A32.754"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{North's best suit is the opponent's \S suit so they should bid 1NT to show

6-10 HCP with a stopper.

}

[Result ""]

{Lead is \SJ. 



Once Declarer gains the lead they should play on \Cs and later take a \H

finesse.\n

Declarer knows most of the HCP are in the East hand from their opening bid, so

it is a good chance to play them for \CA and \HK.}

[BCFlags "9f"]

[DoubleDummyTricks "87888878885645546454"]

[OptimumScore "NS 120"]

[ParContract "NS 1N+1"]

[Auction "E"]

1S X Pass 1NT

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 8

N  S 7

N  H 8

N  D 8

N  C 8

S NT 8

S  S 7

S  H 8

S  D 8

S  C 8

E NT 5

E  S 6

E  H 4

E  D 5

E  C 5

W NT 4

W  S 6

W  H 4

W  D 5

W  C 4



[Event ""]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:KJ532.J7.A82.KT8 T9.KQT9.KQ5.QJ76 AQ86.42.763.9532 74.A8653.JT94.A4"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{This should be a competitive auction with NS bidding \Ss and EW bidding \Hs.

North and South do not compete further to 3\S as they both have minimum hands

for their opening and response. \n

South leads \S2 against against East's 3\H contract.\n

NS can make 7 tricks in \S while EW can make 9 tricks in \Hs.}

[Result ""]

[BCFlags "9f"]

[DoubleDummyTricks "67446674466699766997"]

[OptimumScore "EW 140"]

[ParContract "EW 2H+1"]

[Auction "S"]

1S X 2S 3H

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 6

N  S 7

N  H 4

N  D 4

N  C 6

S NT 6

S  S 7

S  H 4

S  D 4

S  C 6

E NT 6

E  S 6

E  H 9

E  D 9

E  C 7

W NT 6

W  S 6

W  H 9

W  D 9

W  C 7



[Event ""]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:A952.T4.K8.KQ976 QJT7.AK97.A953.4 864.653.QJT2.AT3 K3.QJ82.764.J852"]

[Scoring ""]

[Declarer ""]

[Contract ""]

{In response to North's takeout double, while South only has 7 HCP, they have

responding values and can make a free bid of 1\H after Responder's 1\D. Over

West's second suit bid of 1\S, North competes to 2\H with a fit.}

[Result ""]

{



West leads high-low doubleton in partner's suit, starting with the\DK.



South should draw three rounds of trumps and then set up \Ss; playing \SK first

to avoid blocking the suit.}

[BCFlags "9f"]

[DoubleDummyTricks "56955569556645766457"]

[OptimumScore "NS 140"]

[ParContract "NS 2H+1"]

[Auction "W"]

1C X 1D 1H

1S 2H AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 5

N  S 6

N  H 9

N  D 5

N  C 5

S NT 5

S  S 6

S  H 9

S  D 5

S  C 5

E NT 6

E  S 6

E  H 4

E  D 5

E  C 7

W NT 6

W  S 6

W  H 4

W  D 5

W  C 7

�

